FM3FE08 A 148 16820 &

8 A 11 BADXKMICET 51FH (5 14 #)

1 ECfEAHI (08 B 14 B 15 B 00 %)

=] KERMKAEHE 08 A 128 17800 5

KEXRAEEE 40 FRQ21 th 18 BT 1 41)
60 THT4T(29 1 29 HT 2 1) KEZHMAERERE : 19 FR(@ 10 BT 1 #4)
Z DD ARFIRE 1 FIR( HT)

2 EhLhEDORR(08 A 14 8 15 00 %)

2 4 B & A R
ABHE 144 85 &E 1 20EEAME 1D
(3
FR A HEEAIMNT 1)
XRE®E 32 % —EMEER 3 #(/\ %k 3)

KL :3 #(NERT 3)
R :25 H(KEHETM™ 1. /\&m 2, /NEfTH 22)

1Bi% 18 #H(R I 1, /A& 13, SUETH 1. AT 1, A0
7 1. BREI 1)
HE5% 10 HHOKZ T 1. BRI 1. /\ KT 6. BATH 2)

nERE B ki ok B 4. AR 11, SRR 8 I 23,
J\Z 3. FifkTh 20, KJIth 2. =R 2. BiET 2. A0F
™ 18, FEHT 1, /NTHET 14, KT1i%HT 7)
BRWE 1L
K5 R (REMAT™ 1, ABRT 1. SE(FAT 1, KAKHT 2)
, PRS- EX{R18IE 8 r(fERE T 1. /\Z&h 1. ST 1. 5F (&
Al wE 14 _
— 1. AT 3. K7J%HET 1)
RIKSCEE 1 (R AHT 1)
AFERA: 19 AL AN T 4, fBRETT 2. KEMET 1, /\KTT 1,
T ®KE 19 4 BURERT 1. SE(ETH 1, EAT 1, BRI 1, ZEREHET 1, K

AET 1, AE)IIET 2, ZARIET 2, FREET 1)




3 RN 08 A 14 H 1585 00 %)

X %

A B

N

%IIH

Iy

REREHER

54

R

240,712 tHH 527,003 4

B 10 i 22 £

AEMET:56,441 tHEr 113537 4
ABEKT1:143,687 5 316,028 &
J\Zi:53 tH 108 £

INERTH 8,318 1HE 18,942 £
SE(EHh: 1,976 #E 5338 &
EaThH: 21,601 tHE 51,775 &
HAOFEH: 7,046 HTH 17,662 £
ARF)1ITH : 1,580 i 3,591 &

KEMHE:60 7 86 &
ABB K389 th 791 &
/NERTH - 32 T 68 4
HEm-MHFEITA
HKXoFEH :95 HE 156 £

& 8 1E R

R

369,572 tHH 796,336 44

JE LI T 56,697 tHiHr 108,231 £
=R 89,914 tH¥ 168,307 &
BRIR T 14,382 7 9,475 &
T :5,705 & 11,192 &
W1 2,633 i 6477 &
J\ZT1:25,266 7 61,535 £
Stk 7,895 i 20,102 £
BRI 2,694 T 5321 &
el 711 =& 2,204 &
INBRT: 39,395 tHET 94,920 4
FEEHTH: 2,162 tHE 5442 £
FHM: 102 1 191 &
REPIT™ 1,799 tHiE 4,221 &
{8 :8,500 tHH 17,700 &
AEERFH 13,725 i 30,188 £
HE 455 tHH 1,042 4
@i 539 % 1,316 %
S5F(LT:9,262 tHH 23,386 &
FERRT 2,652 T 5,223 £
HA0FEMT:7,509 i 18,694 B




% B:13,812 tHH 32,546 &
F3EMT:1,360 tHE 2,720 £
TEERT:3,218 tHir 7470 &
JATEET 1,445 HE 3,423 &
=R 364 tHE 728 B
ALLIET: 123 {5 293 £
FHEET: 78 5 200 £
JKEET 1,341 i 2,905 &
[EI1EET : 1,448 tH3 3,185 £
=B MT:3,431 tHir 7,894 &
INPTET 3,862 T 7,348 £
FEJIET: 6,114 75 13,247 &
SAAITET: 10,803 tHH 29,361 £
BIEH 842 T 1,997 &

K JI5EHT : 982 tHE 2,599 £
RAHET:5,152 i 14,016 £
[i)11BT:2,034 tHi 4,431 8
RHEET: 4,437 HE 9,145 &
JIIEHET : 185 7 377 £
KAEHT:2,598 i 5,204 £
Frid: 1,498 tHF 3,065 £
FTEHET:2,107 HE 4,641 &
HAOCHT: 8,362 tHH 18,730 4
L EMT7:3,186 tHH 7,456 &
S FH7:8,793 tH 18,188 £

JE AT 54 HE 88 £
fafE 61 HHE 98 £
BRIFH 4T 5 B
BIf:3HF5 A
I\ETH: 122 1% 245 %
FikT 40 HE 80 £
BRI HE14
PR3 tHF 48
INERT 4T T &
HEHH 10 HE 184
KEHm 5 tHF 14




G 29 HE 37 &
ARFERFH:15 HH 30 &
fRiEm 2T 6 &
SE(ET:33 53 £
FRRT 25 HE 37 4
AHXOFEH:39 HH 85 &
RET: 18 HH 35 4
SR 117429 135 60
FRET:3HF 44
BRAT: 7T I A
JATEHT: 7 tHE 16 &
HEHT5 HE 134
JKEHT: 12 HE 18 £
R IEHT:5 HH 5 %
REE:1HE14
INPTET : 12 THE 20 £
REJIET:9 1% 14 %
SURTHT:5 #H 10 &
BRUEHT: 29 HE 49 £
KTIHEHT:38 T 75 &
KARHT: 49 tHHE 80 £
[GINET:2 7 2 &
ANHET: 78 &
JIGHT: 1 2 &
A5 HFETH
XTHET:2 5 B
HPCHT: 4T 5 B
LERHE14

o}

i SR

E$:

177,995 tH 377,397 £

BT 11,444 7 23742 %
BEAT™:1,013 i 1,936 4
BRix:65,572 HEF 132,340 4
k™ 690 tHF 1,541 &
KINTI:13,947 tHi 33,111 &
1THE™:32,750 i 73,230 £
BT 13,279 i 28,073 £
% BT:4,002 13 9,508 £




FRET:3,401 i 7,522 &
$FET:7,524 T 15,980 £
K 7I5EET : 4,907 #E 13,263 &
EEE:5442 1% 10,750 &
S HHET:4,629 T 9,079 £

JI BT : 8,537 T 15,656 £
f= %5 ET: 858 1T 1,666 £

BRI 87 T 147 £
KT :21 5 30 &
EEMSHFEIAL
FERAHE14
BFET I ME 274
EEAHE1 4
SRHET 1 HE14
JIEHET:2 3 3 £

|<
T
£l
=
R

B X & # SRR

Wl :53 4 83 &
HRET-3HETH
EEIIHTF14

KAYLRBETT DT, EEFHENHYFET,




